








1.  57 - 34 = 23 2.   342 – 121 = 221
T O
5    7

- 3    4 
2 3

H  T  O
3 4   2

- 1 2    1
2 2    1 
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1.  62 - 36 = 26 2.   365 – 137 = 228
T O
6 2

- 3    6 
2 6 

H  T  O
3 6   5

- 1 3    7
2 2   8 

/ /5      1 5     1
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2 Step Exchange:

1. Exchange one 100 for ten 
10s.

You cannot subtract 7 from 0 !

You cannot exchange from 
the 10’s column!

2. Exchange one 10 for ten 1s.

Begin Subtraction:

Ten 1s –seven 1s = three 1s

nine 10s – five 10s = four 10s

Three 100s – two 100s = one 100

You must begin the exchange 
from the 100s column!



1.  60 - 36 = 24 2.   300 – 137 = 163

T O

- 3  6 
2  4 

H  T  O
3 0  0

- 1 3   7
1 6 3 

5      16 0 / /  /2    1      1 /9









1. Use column 
addition to solve:

2. Explain.

3.What do you notice? 

500
254

£10.00

£6.33











1. Use column 
addition to solve: 2. Explain.

500
254

£10.00

£6.33

246

£3.67

Sam is incorrect in both is addition and subtraction calculation.

In the addition calculation, in the ones column, he said 5+7 = 11 when 

it is actually 12. In the tens column he would have brought one ten in 

but when he added 2+4+1 he got 8 instead of 7. The answer to 

325+247 should have been 572.

In the subtraction, in the ones column he subtracted 5 from 7 and got 2 

instead of exchanging from the tens column to make 15-7 =8. He made 

the same mistake in the tens column. The answer should be 78.



3.What do you notice? 

I noticed that when the number you take away, (the 

subtrahend), has a 1 in the ones column and the 

number you start with, (the minuend), ends in a 0 

the answer (the difference), always ends in a 9.

I also noticed that if the tens digit of the subtrahend 

is 9 and you need to exchange to subtract in the 

ones column, the tens digit of the difference is the 

same as the tens digit of the minuend. 

Did you notice anything else?







Word Problems.





L.O. Subtraction Problems.   02.04.20

1. H  T  O
1   4  2

- 3  5
1   0  7    

/
3    1

There are 107 books left in the library after lunch.    



A. Subtraction word Problems – Full sentence answers!





B. Addition word Problems. – Full sentence answers!





C. Addition word Problems. – Full sentence answers!
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B. Addition word Problems. – Full sentence answers!





C. Addition word Problems. – Full sentence answers!
















